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1. TR RS e gEiAaE die’ 9ed yafitn gfges! w©ie sravas gEere o

(1) wiSH EHs igao 2) = T A

(3) oTEN IfEfie 9 (4) THE YN TSTS

Rostow’s “Stages of Economic Growth” the following is the pre-condition for accelerated

growth : :

(1) Social Overhead Capital (2) Higher Per Capita Income

(3) Rapid Industrial Growth (4) Foreign Direct Investment

2. Siiew @qd g I e

e AT feeRToT
() T @) viEw g
(b) @) o g
(c) fawrht (i) 7o FRARTE
d) B (iv) oFg fRamagt
Y

@ ®) () (d)
O O @ @@ @)
2 @ @ @) ()
@) G @) @ @)
@ @) @ @ @)

Match the following and choose the correct code :

Cyclone Place/Area
(@) Aila (i) West Coast
(b) Fiyan (ii) East Coast
() Bijli (iii) East Coast
(d) Laila (iv) South East Coast
Options :

@ () (o (@
L @ @ @G @)
2 @ @ Gv) ()
@) @@ @ @ )
4) Gv) & @) (i)
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3. WOGUHR! R FE GESR I 3R ?

(a) G e (b) S faHEA

(c) Teerleo & (d) EeR TR gEe

feoen vafaris Ara waig frerer

(1) (@) @ () @ ()

(3) (@) (b) =Mfor (c) (4) w0 T

Which of the following functions are public finance functions ?

(a) Allocation of resources (b) Income distribution

(c) Stabilisation function (d) Supply of private goods

Select correct alternatives :

(1) () only (2) (b)and ()

(3) (a), (b) and (c) (4) all the above

4, o fourTE wald ST Oas dis ooy SIVRT SEERTIE i) ?

(1) e (2) U=H (3) o (4) T
What is a grave hazard to an aircraft in flight ?
(1) Thunder storm (2) Rain (3) Cyclone (4) Hail
5. QA IR NFAATEN TN T d e FH0IG 8 BT,
(@) 3l (b) ofr offESH () I (d) fegerdm
REIRIT
1 @) © 2) (), (d) 3 @, @) 4) (@) (®), () (d)
Biotechnology has helped to increase the yield rate and quality of production.
(a) Ethanol (b) Amino acids (¢) Wine (d) Vitamins
Answer options :
1) @ © (2)  (b) (d) @ @ @ © 4 (@) (b), () (d)
6. UIOIGIH! HIVAT STURER L&A 9a LA, TA. (DTH) (Direct to Home) @4 2d ?
(1) ¥9< (INSAT) - 3D (2) %< (INSAT) - 4C
(3) 39 (INSAT) - 4B (4) FHI (INSAT) - 4A
Through which of the following satellites does Doordarshan operates it DTH service :
(1) INSAT - 3D (2) INSAT - 4C
(3) INSAT -4B (4) INSAT - 4A

HoAT THIATATS ST /SPACE FOR ROUGH WORK
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7. A (A TEE wEET 2009 T FTE EIow! R/ Hor faur/ faam st SR/ e ?
(a) TEITEs ALY Yoheqil ARITET HERIR e fHea.
(b) YRAMHS Td A2 EUHHS Bl Y& YheUHT SO HIIES Tl TR0 wad W 8.
(c) wraETe IREFIME NCR , 9@y, Ha8, 97, 3QUamg 7o Saq #e) favwre=n guaa
HIUATT ATl 3T,
(d) e gREEmEd ol fooel, s, Has, HiowE STl 5 el FHEY HI0AW

T ATR.
Tt S
(1) (a) ® (2)  (b) ®H 3) (@), (b) 3 () 4) (d) &
Which of the following statements regarding Metro Railway Amendment Act 2009 is/are
correct ?

(@) The amendment gives proper legal cover to metro projects.

(b) It provides a statutory safety cover for metro rail projects in all the metro cities of
India.

(c) The Act has been extended to the National Capital Region, Bengaluru, Mumbai,
Chennai, Hyderabad and Jaipur metropolitan areas.

(d) The Act has been extended to New Delhi, Bengaluru, Mumbai, Kolkata and Chennai.

Answer options :
(1)  (a) only (2)  (b) only (3) (@) (b) and (9) (4) (d) only

8. UM fFEM idt 2007 =t e FHiordt ?
(a) TUR STRIG ST ST,
(b) AL TR TR AR FHI0.
(c) Sasardr enfifer feerdt oo,
(@) VawiT frEf e <.

T S
1) (a) ® (2)  (a), (b) 37T (c)
(3)  (b) enfor (d) 4) =0 wd

What does National policy for farmers 2007 aim at ?

(a) water use efficiency

(b) use of new technology on farm

(c) economic well being of farmers

(d) export subsidies to farmers

Answer options :

(1) () only (2) (), () and (9
(3) (b) and (d) (4) All the above
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9. YaIH! 9 WS g Wd Y@ WET AR, 69 1853 Wed g d I ® 34 FRfh. 9 wiee e
HTIUATIA 31T ot AR 64460 fhfl. 1o SR &19a a1 64460 ol Yoo sfawien) fordt <o
FHae T 160 Iuia gt e ong ?

(1) ¥R 30% 2) IR 40% (3) FIR 50% (4) AR 60%

The Railways provide the principal mode of transportation for freight and passengers.
From a modest beginning in 1853 when the first train steamed off from Mumbai to Thane
a distance of 34 km it has now grown to a route length of 64460 kms. How much percent
of the route length has been electrified in the last 160 years ?

(1) About 30% (2) About40%  (3) About 50% (4) About 60%

10. 2002 <A1 FUAT (YURUT) HEUTTEAR AT IFENTET AN HeS I
(a) = guter Wied dier 91 e e IR auien e wrenae 50% $adt faan sfs

.
(b) ETRIeAT BE AAUHATE! & SIS Fl AHAT 7% HEAq Hg ¥HS ARa 4.
widt W
(1)  (a) B 2) (b)) ®x
(3)  (a) ST (b) (4)  (a) ST (b) SRS TR

According to Companies (Amendment) Act, 2002 these units are called sick :

(a) Whose accumulated losses in the year are equal or more than 50% of net worth of its
four preceeding years.

(b) Who failed to repay its debts in the preceding three quarters on written demand by

creditors.
Answer options :
(1) (a) only () (b)only
(3) both (a) and (b) (4) Neither (a) nor (b)

11, S=AH SARAR 10 g1 HrEiswA a1 frsiqars fafqa e o

(a) TR I digH (b) ORI & S
() T (d) =8
TgiEt W

(1) (a) S (c) ) (a) S (b) 3) (@), (b), S () (4) (d) T
High Yielding Varieties (HYV) programme has been limited to these crops :

(a) Wheat and rice (b) Jawar and Bajara

(c) Maize (d) Sugarcane

Answer options :

(1) (a) and (c) (2) (a) and (b) (3) (@) (b)and (c) (4) (d)only
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12. foums faem wodt sradsfacas g fadt oo o< 2 ?
(1) 404 50% (2) 307 60% (3) 30 40% (4) 401 70%
How much percentage of water can be saved by implementing drip irrigation system ?
(1) 40 to 50% (2) 30 to 60% (3) 30to40% - (4) 40 to 70%
13. HENI e 9si=r 100 T 200 9.7, STHU YR GOGyh! HIvEl It FH W ?
(1) ST (2) ®REAwE 3) o 4) ifed
Which farming is done in Maharashtra where annual rainfall is 100 to 200 cms. ?
(1) TIrrigated (2 Dry (3) Humid (4) Wet
14.. i o |
C (a) WgE HEEr I () wEETE AEe Tow! TR 1A
.
(b) EHfEh WEHN Wt (i) HIH BUEE T FHAT GHEA THARA
(c) T FEw[ AA (i) T TSR goh AT fadi g,
(d) o wewr At (iv) wreugre SR dafads It
(@ () (o (d
1 @ @) @) (i)
2y @) @) @) @
@) @) @ @ W)
@) @O @) @) ()
Match the following :
(@) Joint co-operative farming (i) Member’s ownership right on land is
in-tact
(b) Collective co-operative farming (ii) Pooling of resources without joint
cultivation
(c) Tenant co-operative farming (ii) Member’s ownership right merges
with society
(d) Better co-operative farming (iv) Individual cultivation on leased-land
(@ () (o (d
O © @) @) (i)
2) @@ @) (@) (@
@) () @ @) (@)
@ @O (@) @) ()

HoAT RINEIST S0 /SPACE FOR ROUGH WORK

P.T.O.



vVO2 8 A

15 fafay st SiemEe @ faun e -

a) I TR ISR JIETg FH HA.
(b) g el T e /Y AR

(c) YIS OFS: HHSA 9 TS

(d) HieEl D ARIHE IS

(e) €U : i Tyaia/ faeams

@ W el 9 I TERE sTeAw
(g) I : EiiiRECicicleica

(hy sEFRE . gRage yRom

(i) = S -t R R R GG IDIES I
G) yifors . g w ARGHTE we
Fhods! vt faum gentst TR ?

(1) (a) 3T (g) 2 (a) 30 () @) (6 st @) (4)  (g) ol (j)

Consider the following statements about the various sources of energy :

(@ OGil - Causes depletion of oxygen due to spillage.

(b) Gas : Exploration of new fuel not easy

(c) Firewood : Collection time consuming

(d) Coal: Bulky to transport

(e) Hydel Power: Displacement of local community

(fy Solar : Disturbs radio and TV reception

(g) Tidal: Destroys wildlife habitat

(h) Biogas: Causes green house effect

(i) Wind: Diffused source so gets wasted

(j) Geothermal :  Located far away therefore costly to transport

Which of the above are not correct ?

(1) (a) and (g) (2) (a) and (f) (3 (H) and (i) (4) (g) and ()

16. 1991 Y&, TSN &g TEUATE Hald WETETS HRU B

(1) oRfaSe TS (2) e sre=of

(3) HENATIS TSI (4) F=A HRIGEAE SV

Which was the most important reason for the closure of small scale industries before
1991 ?

(1) Marketing Problems (2) Financial Problems

(3) Labour Problems (4) Raw material Problems

HTAT HEES AWM /SPACE FOR ROUGH WORK

ST L R L B R L P T T T T L e




A 9 vVO2

17. TS S €07 2011 3 S Y& LTI HIUA 3Ra ?
(a) SR &A1 GDP A del 25% 9dd aresiera.
(b) 3T AT GDP AL AT 30% Tda qrefao.
(c) el SueMed 50 Suro 3Tfush s frfor &eo.
(d) T TUHME 100 INH A ISR FAfT FI.
R IW
(1) (a) 3o (d) 2 (b) 3 (o) () (a) 3 (c) (4)  (b) ST (d)
Two major objectives of National Manufacturing Policy 2011 are :
(@) To increase the share of manufacturing to 25% of the GDP.
(b) To increase the share of manufacturing to 30% of the GDP.
(c) Create 50 million additional jobs over a decade.

(d) Create 100 million additional jobs over a decade.
Answer options :

(1) (a) and (d) (2) (b)and (c) (3) (a) and () (4) (b)and (d)
18. fados Sigme] HUS YOS aTudm.
(1) wfes (2) SRS (3) TGRS (4) SRS
enzyme is used in laundaries for cleaning clothes.
(1) Protease (2) Amylase (3) Cellulase (4) Lactamase

19. TIMEGTE J8 I FIIMAS TG 1ad FH1F @Y 3R ?
(a) ST SAERGIT oo X IH1 Yehe! o ARV Traard A aem.
(b) ufeem SMTEE WOTR Y& At T 9 TG Hald ol WeRH A9 EF TR,
(c) i T[eieal A 5iqes Yo fahrl ®I[E S5m.
ERIRIIST I
1) @) (2 G G) @M@ @) (@) b))
What is true of Gorakhpur, a city in backward eastern Uttar Pradesh ?

(a) Infamous for the death of hundreds of children due to Japanese Encephalitis every
year.

(b) Issaid to make a mark to have the worlds longest platform overtaking Kharagpur of
West Bengal

(¢)  Once infamously called Chicago of the East due to its gang wars.
Answer options :
(1)  (a) and (b) (2)  (b) and (c) () (a) and (c) (4) (a) (b) and (0)

HoAT RIUTETST IR /SPACE FOR ROUGH WORK
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20. QP HATIAAE AR FEA FHd AEART & Hiorean e S 49 ?

(1) 9 WRSYUTET 3 ST FHET=AT TS darqd™

(2) @ == N GPH TouTTR a9HE

(3) wE U THITR aT9HH

(4) W YA 9 QERE Y HETE daETeL

Potential Fishing Zone (PFZ) using remote sensing is based on :

(1) Sea salt concentration and sea surface temperature

(2) Chlorophyll and sea surface temperature

(3) Only on sea surface temperature

(4) Colour of sea water and sea surface temperature

21. YRANE 9919 TSAUIEAHT Yl 3coe] SR ! SRIQ I STTHRER g6 e 3Ted ?
(1) e AFiEE T | 2) et s fdw
(3) ShENTHATST T HEE (4) TS forewen

On what basis have many state governments in India amended their ‘Agricultural Produce
Marketing’ acts ?

(1) NAFED - guidelines (2) RBI - directives

(3) Central Government’s Model Act (4) NABARD - recommendations

ST HIATAIS! 9T /SPACE FOR ROUGH WORK
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22. WENITA® FTE Wi ynr frsraren fafay dwied avRet i F3 amia, @1 e
oS Sedl Jooal
EC K ITHA
(a) T fafs (IEHTTR) () oAfeaTHs goh
(b) Her-o@ (TSfEUeT) (i) WSS sEY Sifysy
(c) doge (TAUEd) (i) TH-TFEYUR
(d) TSRS (W) (iv) FUEU-T
@ () () (@
1 @ @ 3§ ()
(2) @) (@) (@v) (i)
@) @ @v) @ @)
4) (v) (1) (i) (i)

In Maharashtra, some villages have successfully experimented in the field of rural
development. On this background, match the following :

Village Activity
(a) Ralegan Siddhi (Ahmadnagar) (i)  Rights to aborigines (Adivasi)
(b) Mendha-lekha (Gadchiroli) (i) Community foodgrains Bank
(c) Belkheda (Amravati) (iii) Village self-sufficiency
(d) Darfal (Sholapur) (iv) Freedom from mal-nutrition

(@ () (9 (d)
1) @ @ @) (v)
) @) @ (@) ()
@) @ @) @ i
4 (v) @ @) (i)

23. IR Uit ISTIGRAT AR S TPl o TeA&Id STHE [aherEt Tahant I
foeht o8, 3Tl ST faym g9ie R ?
e WA
(1) 999 IS (1951 - 56) 2.1 - 3.6
(2) e A (1969 - 74) 5.7 2.05
(3) IEE IS (1992 - 97) 5.6 6.68
(4) TR ASE (2002 - 2007) 8.0 9.7

The targeted percentage growth and the actual growth percentage for some plan periods

are given below. Which amongst them is incorrect ?

Target Actual
(1) First Plan (1951 - 56) 2.1 3.6
(2) Fourth Plan (1969 - 74) 5.7 2.05
(3) Eight Plan (1992 - 97) 5.6 6.68
(4) Tenth Plan (2002 - 2007) 8.0 9.7
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24. Tomid quRO e U ) ST AT SR S
(1) 18X (2) 123X (3) 15 3&X (4) 257w
Marginal land holding category belongs to less than hectare of land.
(1) 1 hectare (2) 1.2 hectare (3) 1.5 hectare (4) 2.5 hectare

25. WERIY WA 2013 €@ =1 764 SN GRUER §&H, ©F o Hegq IUhAIEmEdd qgiois!
VAT TR TS Hodl TR ?
(1) STemETRr (2) aTEAFERt (3) faEart (4) STETAFA

Which of the following approaches has been considered for MSME development under
the New Industrial Policy of 2013 by the Government of Maharashtra ?

(1) Optimistic (2) Realistic (3) Holistic (4) Unrealistic

26. RN STed GISGUh! Hivd fqum et/ a 37 ?
(a) TERTE T4 STAYATA] Fadd LI q0 3.
(b) RIS Sr=em=r=t el diean yamng ! .
(c) 3T TSHHGA HENSZ ST AT HL.
(d) RIS Syt 1. fata et < .
arel feaiean vafamy dra v e
(1) (a) B (2)  (b) & () (3) (o) (4)  (a) ST (d)
Which of the following statements is correct about Maharashtra ?
(a) Maharashtra state is self-reliant in food grains.
(b) Maharashtra exports food grains in large-scale.
(c) Maharashtra imports food grains from other states.

(d) Maharashtra neither exports nor imports food grains.
Select correct options given above :

(1) (a) only (2) (b) and () (3) () only (4) (a) and (d)
27. ‘Tived WwWH' A <9 qIEta YHI 3T

(1) ot FWEA (2) UEAFRETGHHEA

() Si=RE® idE (4) SFRIH

‘Golden Rice’ contains an increased amount of

(1) Beta carotene (2) Cyanocobalamine

(3) Ascorbic acid (4) Lycopene

THoAT HHE F /SPACE FOR ROUGH WORK
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28. 2012 - 13 =41 %14 1Y Fehoud ALY Ve wUHe] UG BT Yeiean 96t S0 T 619
TS HiSST SR, @ HIVIT 2
(1) fowr gt art gemE (2) THRHS AR FTRIHMH
() TERHF IR TRIHE 4) IBYEH! BV AT

The Union Budget for 2012 - 13 introduced a new approach to the list of services included
under service tax. What is this approach known as ?

(1) Expanding list approach (2) Negative list approach

(3) Positive list approach (4) None of the above

29. SIfe SR HoA= (WTO) TSI J9R, IS HH! HIUFMHIS! Uaw=ail <ol SR FeergaieTs
TEM 1 e[ AT S
1) few=t & @) freew oe &8
@) f@ & 4) T o fraesw o ved

As per (World Trade Organisation) WTO- provisions, certain payments made to farmers,
for encouraging them to limit production, are shown under :

(1) green box (2) amber box
(3) blue box (4) blue and amber box

30. TGB! HIVMI TN & SIS QI o AAATHA SIS T S difed gov o1 ?
(1) o i ) s s@fEm
(3) <fEur anftmat (4) =Y ATY

Which one of the following regions is amongst the worlds most vulnerable regions to both
natural and man made disasters ?

(1) South Asia (2) South America
(3) South Africa (4) New South Wales

31. TERIEHS 92 fadsht aaue (F.D.L) Wolots! Hivwen &=1d gaid 2ifus o 2

(a) et o (b) R Gfaw

(c) TErEA sTfor @ (d) Harad

I w4ty faet

(1) (2) ¥ (d) (2)  (a) S (b) 3 (o) ® (4) (d) P
In which of the following sectors in Maharashtra the contribution of F.D.I. is most ?
(@) Information Technology (b) Infrastructure

(c) Chemicals and Fertilizers (d) Service Sector

Select the correct option :

(1) (a) and (d) (2) (a) and (b) (3) (c) only (4)  (d)only

HTT HIATES T /SPACE FOR ROUGH WORK
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32. WIS 2012 - 13 SeO& Foa qoed ok enfie =i (SEZs) @R a1 favrr=n w9

T

(a) YO fawm (b) i faum

(c) TR fqum (d) o favm

TR W

1) (@, @) &) (d) 2) (@), (9) (b), (a)

@) () (0) (d) (a) 4 () (a) (b), (d)

Arrange these zones on the basis of number of executed Special Economic Zones (SEZs) in
Maharashtra till 2012 - 13 :

(a) Pune Division (b) Konkan Division
(c) Nagpur Division (d) Aurangabad Division
Answer options :

(1) (@) (b) (0 (d) (2)  (d) () (b), (a)

(3 ®) () @) (@) 4 (9 @) () (d)

33, F TEIAT WSTS! I U :
(1) I T + 5o T + S feae enfor gax for=.
(2) I TS + ST AT + sl SUROR ST $aX .
() 3> sl + 3 YTt + HSl IURE 37T TR 4.
(4) HIATE G +FS SHRET T FAR 4L

Capital receipts of the Central Government are :

(1) Recovery of loans + Other receipts + Lending and other assets.

(2) Recovery of loans + Other receipts + Borrowings and other liabilities.
(3) Lending of loans+ Other receipts + Borrowings and other liabilities.

(4) Recovery of loans + Borrowings and other liabilities.

FHoAT BTG SFT /SPACE FOR ROUGH WORK




A 15 V02

34. STichelier ivra: Treesicl e YR e e, il <hividt Seh 37T ?
(a) oAl fada ad 30 g<eran .
(b) RuscfieTa sefdsey A5 s feen el
(c) AN HEMR TR @I fa8aeh Hserl g
d) fosieTaa faeasd sgra o,
(€) 3Uheq T TSY o fgifeess o) wer 1R,
() Foshsw R e fadas gee gafacdl ST SHCHSA JIF TR,
(g) o M= S <Tesad 1996 HEA HL.
(h) IR STEYIE o STAEREH TN G 7@ fam,

() STEATIH FHIR FHEW.

) TR TS TEER foA S e

AT IW :

(1) (o) o (f) (2) (d) 2T (e) 3) (g) ®x @) (v, () enfon )

Consider the following statements about the partial shut down in the United States. Which
amongst them are incorrect ?

(@) The US financial year ends on 30t" September.

(b} The Republicans did not allow the budget to pass.

(c) President Obamas healthcare reforms were at the centre.
(d) The Republicans have a majority in the Senate.

() The Democrats control the House of Representatives.

(f)  The Republicans Suggested modifications to the health care reforms which were not
acceptable to the Democrats.

(8) The last shut down was in 1996

(h) Workers divided into essential and non-essential

(i)  Essential workers carry on operations

() Rest go on leave without pay until shutdown is over.

Answer options :

(1) (@ and () (2) (d)and (e) (3)  Only (g) 4 (h), () and ()

HoAT HHMEIS ST /SPACE FOR ROUGH WORK
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35. Ifeh SAMUR WoAREd faehdafiTe SRHet HIvwen Tgei=n TuEas 3R ?
(a) W IASaIvERE! ifuew=n FoEH
(b) SAURfaYIS HHHEA g HoATS I
(c) =R fawas fovy S
(d) =R fawas feaq Sraw.

Tt W

(1) (@) = (b) 2) (@) (b) 3T () (3) (b)FH (4)  (a), (b) Mo (d)
Which of the following are the special provisions for developing countries under the
WTO ?

(a) Longer time period for implementing agreements.

(b) Measures to increase trading opportunities.

(c) Special Octroy rates for trading.

(d) To safeguard the trade interests.

Answer options :

1) @and(®) (2 (2 (and(© (3) (b)only (4) (@), (b and (d)

36. 11 U<eR A1 qRETN WSO BT S Feiferd e 2
(1) oTiridre frT oo wm e ar Mo
(2) e fodeEr 9@ it SR
(3) Tocar! Ao Y&y
(4) STEUFRAIG T adale ! geo.
Which one of the following incidences is not related to 11t September ?
(1) Famous speech of Swami Vivekanand at Shikago in U.S.A.
(2) The Birth date of Acharya Vinoba Bhave

(3) Earthquake at Khillari in Maharashtra
(4) The terrorist attack on twin towers in U.S.A.

37. %o GURUT HRHAT GISS S0l arei=r Faee 7w ?

(a) Feors Gfewmar (b) WEAEA SERA

() w@rHiE aAfHsR (d) e E

gAY IW

1) (o) Fx (2) (b)Y (o) (3) (o) = (d) (4) (b ST (d)
Tenancy reforms do not include :

(a) Security of tenures (b)  Abolition of intermediaries

(c) Ownership rights (d) Reorganisation of Agriculture

Answer options :

(1) (c) only (2) (b) and (c) (3) (c)and (d) (4) (b) and (d)

ol RIHTETS SAET /SPACE FOR ROUGH WORK
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38. ST WAGAAE] WISTG FehRIE] FHEY ST :
(a) wiSTS! A A
(b) YR T SRS HiSad! TR SFRGEn 9974,
(c) oA AI@TE A
(d) ST I WA SAMGd ol a&ar T3
ERIRIISHISE
1) (a) B () (a) ST (d) (3)  (b) 3 (d) (4)  (b) 3 (c)
Import substitution includes the following types :
(@) Import of capital goods.
(b) Substitution of capital goods imports for consumer goods imports.
(c) Import of raw materials.
(d) Substitution of home produced goods for imported goods.

Answer options :

(1)  (a) only (2) (a) and (d) (3) (b) and (d) (4) () and (c)

39. Il TIEETE] AT S HSl A 2
(1) TR Ste g Foame sEme ST,
(2) TS SHETHMN e HoATHER e ST,
(@) A ST g Hoamed Ay Sl
@) o e
Income poverty is defined as :
(1) The inability to attain a minimum standard of living.
(2) The inability to attain a fair standard of living.
(3) The inability to attain a decent standard of living.
(4) All the above

HTAT HIUHG ST /SPACE FOR ROUGH WORK
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40.

18 A

HieeR 2009 =1 S el I LPG faaer 992 qEiadst Hivd I8 8 ?

(1) 99 2015 T 5.5 FIE Fol9 LPG R 0 e IAMET 75% b THIaS H5%
o9,

2) ¥ 2020 T 6.5 HI AT LPG ¥R Faf01 F% IS 80% Srehaeio] GHIR e
a1,

(3) @ 2015 9dd 7.5 H¥e T LPG ¥R FHi0 e AT 85% SehaEio GATES Hed
a9,

(4) 9 2015 THq 5.0 FIRI T LPG R FHI0 6% IUMHS 75% DS HHIG FHo1
o,

What was the objective of Rajive Gandhi Gramin LPG Vitaran Yojana October 2009 ?

(1) Provide 5.5 crore new LPG connections to cover 75% of the population by 2015.

(2) Provide 6.5 crore new LPG connections to cover 80% of the population by 2020.

(3) Provide 7.5 crore new LPG connections to cover 85% of the population by 2015.

(4) Provide five crore new LPG connections to cover 75% of the population by 2015.

41. S IR TR FIOAMET ST fhva gfhaa v geusiarar arR i ?
(1) SxRIEGTT (2) FErEeE (@) TH @fargd (4) FEEieE
What is the starter culture used in wine fermentation ?
(1)  Lactobacilli (2) Probiotics (8) S. Cerevisiae (4)  Prebiotics
42, OTEEHIT THEY HICATHIE! AR SO SR 7 uaed g e,
1) Sl (2) hoaiHl Wi (3) W T 4) GeusitE
‘Gelatin’ a commonly used Gelling agent in ice-creams is derived from
(1) Fungi (2) Skin of fruits (3) Bones of animals (4) Bacteria
43. SAGIEAHER HHQTAT U &N A A A6 9 MEHNHS Aol HEBATe.
1) < (2) e OBREE (4) wEHA
In cell cultures, cancer cells differ from normal cells due to their uncontrolled growth and
shape.
(1) Elongated (2) Round (3) Pentagonal (4) Hexagonal

ol hIHTETS ST /SPACE FOR ROUGH WORK
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44, 3 A YA wOS HE 2
(2) T % weto Swia T fe
(b) Sehidl g Ho T IS
(d) Sien T S s weEd S T e, S st e .
Iy vy frae
(1) (2 o1 (b) (2) (b)HH (3) (o) o (d) @) (d) ®x
What does High Power Money mean ?
(a) Bank reserves at the central bank.
(by All loans and advances of banks.
(c) Money held by banks.
(d) Currency held by public and reserves with central bank, excess reserves of banks.

Select the correct option.
(1) (a) and (b) (2) (b)only (3) (c)and (d) (4) (d)only

45. 12 = Yeaifte dsmaed (2012 - 17) , FESE SErm 1 fowmel St %, 45 o8 SidEr
T[AEU[TE! TAE POt AR, A1 AU UhT G Jaauehtar areT favd! SR ?
(1) Hia FH 50% (2) 60%
(3) T FHH 45% 4) 75%

During the 12 Five Year Plan (2012 - 17), the Planning Commission has projected an
investment of Rs. 45 lakh crore for infrastructure development. What is the projected
share of private investment in the said investment during the 12t plan ?

(1) At least 50 percent (2) 60%
(3) At least 45 percent 4) 75%

46, I FHET HIIR fashar AeHer QU0 Hegl The THhal 7
(1) WA quiqe H@atas ST, (2) TR qUige Safas THd
(3) TR W Tafas T (4) T W o EE .

When can the burden of an indirect tax be entirely shifted by the seller to the buyer ?
(1) Demand is perfectly inelastic (2) Demand is perfectly elastic

(3) Demand is relatively elastic (4) Demand is relatively inelastic

HTAT HIATEIES! FMT /SPACE FOR ROUGH WORK
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47.

20 A

GIIGUH! HIA Hedh WRAMH i faa sroae ome ?

(a) 9T TSNS Iaq ST ggT X

(b) TR ety I,

(c) Wy i

(d) I9= i Fodmedte fowa.

TR W

1) () (@) () (a) T (b) (3) (a), (b) ST () (4) (b) U (d)
Which of the following factors are the failures of economic planning in India ?
(@) Low per capita income and growth rate.

(b) Poverty and unemployment

(c) Slow industrilisation.

(d) Inequalities of income and wealth.

Answer options :

(1) G, and(@© ) @ and®) (@) @ Band(© @ () and(d)

48.

WRATAS il LS SASHIRE € qEAd: I Fohs! e ?

(a) T SRS (b) W ARSI
(€) SR SR (d) STeemR SRS
Tt S

(1) (a) ST (b) (2)  (b) T () (3) () (b) ST () (4) (b) I (d)
How is the agricultural unemployment in India basically ?

(a) Seasonal unemployment (b) Disguised unemployment

(c) Chronic unemployment (d) Temporary unemployment

Answer options :

(1) (a) and (b) (2)  (b) and (c) (@) (@), (b)and (c) (4) (b)and(d)

HeAT U WM /SPACE FOR ROUGH WORK
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49. HRSTTHTH AR ATIRAT 9% fHua TH faGiard Widioys! S e oTed ?
(a) FE T <V STRd & (sTRfER) T (fe)
(b) T T I A IEA HA, T TATET AR HEA ST 32 F HIIS.
() ¥ I SARAME! i, 49 9 Wisa® § U1 IURTHH .
(d) TRE T SURARS JgaY Toie IS,
Tt HivR /o faum/fauam sRier 1R/ enRd ?
(1)  (a) B (2)  (a) T (b) @) (@), (b)) @) (o), (b))
What are the assumptions in the Samuelson’s factor price equalisations theorem of
International Trade ?
(@) There are only two countries say A (America) and B (Britan)
(b) They produce and trade two commodities say, food and clothing.
(c) There are three factors of production land, labour and capital to produce these
commodities.
(d) The production function of each commodity is heterogen of degree one.

Which of the statement given above is/are correct ?
(1) (a)only (2) (a)and (b) (3) (@ (b)and () (4) (a) (b)and(d)

50. YRAME THE AT FRHM SMURYT famdl aien RIerei=a YR SER Hedl S
(1) weEd. (2) TAHLELHE (3) TITLTRILE. (4) THTAH.

In India, the minimum support prices for major agricultural commodities are announced
considering the recommendations of :
(1) C.A.CP. (2) N.CD.C. (3) N.AF.E.D. (4) APM.C

51. ‘OrmaeE foawas e’ = Hsie Sy w2
(a) IUGH-SHUE T THV AU,
(b) SSH-TET THTT HHT BT,
(c) - WHIVT Seuamel.
(d) WE(-SJFRAEAD JHIU ST,
TqSURT HIVIG /R0 Trem/ faum Se ST/ o1 ?
(1) (a) AT (b) (2) (o) =nfT (d) (3)  (b) eTfor (d) 4) (d) %
With what is ‘the Demographic Dividend’ associated ?
(a) the rise in the proportion of productive group of population
(b) the reduction in the proportion of child-population
(c) the reduction in the sex-ratio
(d) the increase in the proportion of urban population.

Which of the statement/s given above is/are correct ?
(1) (a) and (b) (2) (¢)and (d) (3) (b)and (d) (4) (d)only

el RIS WRT /SPACE FOR ROUGH WORK
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52. fost=Iwen fatenre frere o 2
(1) 3ARER gA9RH oy fafd #3a i wisaouer a% 3TaE w3,
(2) oTRER guYRE St fafa enftn s wa.
(3) TR vieqe YoM axg= [aid oTfir st w.
(4) et T
What is Leontief’s paradoxical conclusion ?
(1) USA exported labour intensive goods and imported capital intensive goods
(2) USA exported and imported labour intensive goods.

(3) USA exported and imported capital intensive goods
(4) None of the above

53. 2000 9 WRRGT Hees fae™ IEEME Ir=1 GHE o8 ¢
(2) TEY enfu IR e,
(b) wrafhe Rrerome G
(c) waiT faamea enfor Qe oo

(d) vatERer faw

Tt S

1) (a) B (2 (a), (b) 3o (d)
3) (o) B 4) =o wd

Millennium Development Goals (MDGs) adopted in the year 2000 comprise :
(a) Eradication of poverty and hunger

(b) Universal primary education

(c) Free and safe drinking water to all

(d) Environmental sustainability

Answer options :

(1) (@ only @ (@) (b and (d)

(3) (c) only (4) All of the above

54. fR®R fawm & Sacy 9um $3 AlSTI™ S ?
(1) TCE HRAIA TSt 2) T agun wfeg
(3) R URug 4) =ots T

Where was the concept of sustainable development first introduced ?
(1) World Conservation Strategy (2) Rio earth summit
(3) Kyoto Summit (4) None of these

AT HUMIE ST /SPACE FOR ROUGH WORK
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55. HTWgeh SUSTTR! = AT HH Ho 91 ?

(1) T TARTHES THe! a6 USFIR 7 W ATl e GEA.

(2) OV FRTHE Sgaie At ASHIR T YT Foed i< G, -

(3) HA&I RS YUl ISR T YTt et ekl S,

(4) o .

How is weekly unemployment measured ? .

(1) Number of persons who did not find even an hour of work during the survey week.
Number of persons who did not find work most of the time during the survey week.

(2)
(3) Number of persons who were not fully engaged in work during the survey week.
(4) All the above

56. 2011 1 SVHG ARSANIaE A= TAUTHR [61a fewri=n &9 o

(2) TR (b) HoHE W

() Yo IR d) TH

R W

1) (@) (b), (d), (o) 2) (9 (@), (b), (d)

@) (k) (©) (d) (@) ) (b), () @), (d)

Arrange these districts according to the literacy rate data of 2011 census :

(a) Nagpur (b) Mumbai City

(¢) Mumbai Subarban (d) Akola

Answer options :

1) @, () (d) (9 (2) () (@), (b), (d)

3)  (b) (©) (d) () @) () () (@)
57. anfyrn fagtan S WRneATel Yed i Woiede! HIvwd ?

() fore wR sHi@ (b) oS g

(c) wio=miie |¥a (tools) (d) fesiea @2

T W

(1) (a) B () (a) 0T (b)

() (a), (b) S (c) 4) () (b), (c) o1 (d)

What are the key focus areas for research of media lab Asia ?

(a) Bits for all (b) World computer

(c) Tomorrow’s tools (d) Digital village

Answer options :

(1) (a) only (2) (a) and (b) only

(3) (@) (b) and (9 (4) (a), (b), (9 and (d)

FHeAT RIS ST /SPACE FOR ROUGH WORK
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58. W] SAIRIA AT HIVCAT &= G1ET 56% 38 ?

(1) WEwAR &4 (2) @S &

(3) RS 9 WIS & (4) SiEnfre &=
Which sector contributes 56% in the Telecom Sector presently ?
(1) Public Sector (2)  Private Sector

(3) Public and Private Sector (4) Industrial Sector

59. 3TCY Ve fash e WU
(a) T SITT-H&A
(b) SSIRfaTae el Sqesear

(c) HeAR WA Gfawn
(d) Ff slisr=ren goia garon
TBYH! HIU/ FIvrl faum/ faum stew e/ 3k ?
(1) (a) w (2)  (a) T (b) 3) (@) (b)3MT() (4) (a), (b)oT(d)
Ideal agricultural marketing means :
(a) Lower number of middlemen
(b) Market information
(c) Too many facilities to middlemen
(d) Improvement in agricultural implements
Which of the statements given above is/are correct ?

(1) (a) only (2) (a) and (b) (3) (@) (b)and (c) (4) (a) (b)and(d)
60. sTARAEfEAYH gfhd g _ GR@E! "ad Ygueh g dyvia: srear Adr.

(1) 37w ifea (2) UfoTE

3) dife Hfcw srIgiss o (4) ifoufed

Hazardous chemicals like can be completely removed from the environment

by the process of bioremediation.

(1) Alpha toxins (2) Polysters

(3) Poly aromatic hydrocarbons (4) Polyethylene

61. TRV HeT HAUTAhed QM 9 fafay g wisar=an aRmeR Wisiote! HIvd &l fHed ?
(1) & od (2) S @ (B) T oH (4) ELAFIR BH

Which of the following loans is obtained from Pawn-brokers by pledging movable properties
such as Jewellery and utensils made of various metals ?

(1) Key loan (2) Open loan (3) Chattel loan (4) DIR loan

AT HIATATS ST /SPACE FOR ROUGH WORK
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62. et o faymian faer .
(a) Hohelg UTUATET 80% fasht Tk eilex STeaii=an TohRId &I
(b) STfe TR ST YohsTg, W=t ¥ita e e wHis v, Yhg 96l 9 Yoy,
ferfesreq AL
3TTAT | T :
(1) faum (a) s (b) 9% (2) faum (b) AT (2) T
() IR YA (@)FB)TWR  (4) <= f99H (a) 9 (b) T
Consider the following two statements :

(a) Eighty percent of the packaged water sale comes from one little bottle.

(b) Soft drinks constitute the third largest packaged foods regularly consumed after
packed tea and packed biscuits.

Now state whether :
(1) (a) is right but (b) is not (2) (b)is right but (a) is not
(3) Both (a) and (b) are right (4) Neither (a) nor (b) is right

63. RAN ITUF SHAGEIHEY TEATN HIVAT TBEE HISUATd I ?

(1) T8 (ISRO) ITE HF=K (2) WA geA sqde Fg

(3) Tosed wrWE e = (4) TSR o ST

Where from are the Indian satellite mostly launched ?

(1) ISRO Satellite Centre (2) Satish Dhawan Space Centre

(3) Vikram Sarabhai Space Centre (4) National Remote Sensing Centre

64. TG FHT o T faehE S A1 fER G T WOle SRS S0 e

(1) FH G TaREe fa@™ W@ ™ (ARDC) TaYEcaRiie W9 Hrda™ el
(2) U= weEnl fowe dgem (NCDC) fyifa seu e st &1 7iEi.

(3) Tl TagReaT AU (ACD) AETeR HIUNTHR (ST Fvard 3raae 2.
(4) TSt

NABARD came into existence as an apex refinancing institution because :
(1) Role of ARDC was inadequate and insufficient

(2) NCDC failed to achieve laid down objectives

(3) ACD was unable to handle increased credit demand

(4) None of the above

el SHTHTEISE 90T /SPACE FOR ROUGH WORK
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65. 12 =1 GHEIE A TR SMHS s aav fhdt TR 2
(1) 11 =1 Yelldeh GIsHAe Foem Taevs < gue.
(2) 11 = qEaIie AHE hoedl [aauEhe 120%.
(3) 11 =1 q=EINE AHE Fowdl Taaveh= 150%.
(4) SUET TR T

The estimated total investment in the infrastructure sector during the 12th Five Year Plan
is approximately :

(1) Twice the investment made in the 11th Five Year Plan.

(2) 120% of the investment made in the 11th Five Year Plan.

(3) 150% of the investment made in the 11th Five Year Plan .

(4) None of the above

66. TIAGUH! HIVAT TS oF & FRTAT, AL THT Fad SR A 3Tee! ?

(1) e (2 Fude (3) SIEHM (4) TEEE
Which of the following nitrogen bases is absent in RNA but present in DNA ?
(1) Thymine (2) Uracil (3) Adenine (4) Guanine

67. T e WEAIH! TH YGHH IO 2

1 @ (2) T TEATFEE B) W (4) TEGNH WETES
Among the following chemicals which is the secondary pollutant ?
(1) Ash (2) Carbon Dioxide (3) Smoke (4) Hydrogen Cyanide

68. T 1996-97 Wed g IMEAM wlld FHI SIW FHRHH HYAMIS! Hraff-<rd el ?
(1) SRS AdHAM AR FAGLEST Hl,
(2) A Y IR TYR TheNHST 31 TR H0.
3) =g e fo=m yheaiart s1ef wereA Fo,
(4) Al sTHeS fHET ywed Ui FvAmEE! 1 wErRA H.

What did the Central Government initiate the Accelerated Irrigation Benefit Programme
(AIBP) in 1996-97 for ?

(1) For extending financial assistance to dry land farmers

(2) Extending financial assistance to undertake new minor irrigation projects

3

(

) Extending financial assistance to undertake multipurpose irrigation projects
4) Extending financial assistance for the completion of incomplete irrigation schemes

HTAT RIS T /SPACE FOR ROUGH WORK
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69. T TR ST SeRT .
(1) erimE (2) @Rl (3)  FHHe @ =
is not an example of single cell protein.
(1) Agaricus (2) Spirulina (3)  Euphorbia (4) yeast

70. FYNS RIS 3 <Y A1 Hedr FTERet TUR yRamdie < €8 ufd ad et snfor diegt
HiGT=ET YN fehd! ST TS ?

(1) 180 31t nfer 11 fopedl Teret wiw. (2) 90 et Fftr 10 fhet dierdt Mg
() 365 it afr 12 foredl et wiw (4) 180 3t 3mfn 12 foredt Tt Wi

What is the recommended per capita per annum consumption of eggs and poultry meat
in India by the National Institute of Nutrition ?

(1) 180 eggs and 11 kg of poultry meat (2) 90 eggs and 10 kg of poultry meat
(3) 365 eggs and 12 kg of poultry meat (4) 180 eggs and 12 kg of poultry meat

71. 'O 9%’ ASMSAIG BIE dohd WIOIGTSh] SVl SHH U WTUER TS ?

1) @ s (2) WX ¢) o @) T
Under ‘Lead Bank’ scheme, Lead banks were asked to adopt :
(1) Village (2) Town (3) District (4) State

72. S SHAEATIATRRAT vl STURTT SYANT FHL0ATd Il 7

(1) St ¥e (GSAT) (2) THe (INSAT)

(3) 3TUHZ (ANUSAT) (4) TG (HAMSAT)

Which of the following satellites is used for Disaster Management ?

(1) GSAT (2) INSAT (3) ANUSAT (4) HAMSAT
73. Tote faur o

(a) e o YU UK FET A UG AGar TR,
(b) TS AT YA v g YR fiod d%d wga Fl,

Wﬁ"f M :
(1) (a) SRR 37T (b) TH TR, 2) (a) 3T (b) SRR 3.
() (a) 3V (b) I 3TeA. (4) (a) I M (b) SIS 3T,

Follow the statements :

(a) Liquidity is injected into the system by reducing repo rate by the RBL
(b) Reverse repo rate helps the RBI to absorb liquidity from the system.
Answer options :

(1) (a) is correct but (b) is incorrect (2) (a) and (b) are correct

(3) (a) and (b) are incorrect (4) (a) is incorrect but (b) is correct

HoAT SIS SR /SPACE FOR ROUGH WORK
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74. HERISL Sf. GSTeRIe Q¥ A1 Yafquar= & 14 ?

(1) e faf aeavaEE! T 3o,

(2) vetgaeEia fafaa T qvamE.

(3) UAHA R FS HEvIH WeHe A HAEd g TUITEIS!.

(4) TR gfshE HIATETEt.

What is the purpose of implementing Dr. Punjabrao Deshmukh Scheme in
Maharashtra ?

(1) To promote export of agricultural goods
(2) Financial assistance to irrigation
(3) Interest rebate to motivate farmers for timely repayment of loan

(4) Processing of agricultural output

75. UASHIAE R AU IAGHAT <A1 & Gl 918 ITdT JI=dl IR 3T HIO A7
IR :

(1) YRS T FHR TEH AR,

(2) Sl YOS G TS IR

(3) W fyei=al ST SHUIT A6 AS! TR,
(4) Icmeite T dAe YRR SRed IR

The controversy of inverse relationship between farm-size and productivity is more or less
irrelevant today because now in India :

(1) the average size of holding has increased
(2) the number of small holdings has decreased
(3) the productivity of all crops has remarkably increased

(4) the modern technology in agriculture has changed the situation

oAl RIMEISI ST /SPACE FOR ROUGH WORK
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76. A& HEA WIGGIH! RV fauM SER TR ?

(a) TS HTET FUAM ST FIR ThHT= AR STEAL.

(b) T HUAT FHAEE A FHTIR AFTIN o [LASITAT T vl TG STHaI.

(¢) I YA STEdId IR FAUaY Shedl ad g

(d) T FAA T FIR FAUA SHaal Il

Tt W

(1) (a) 3T (c) (2) (), (b) ST (c)

(3)  (a), (b) 0T (d) (4) S@IR! RIUQET TTRT

Which of the following statements are correct with regard to direct taxes ?

(@) The incidence and effect of a direct tax is on the same person.

(b) The incidence and effect of direct tax depends upon elasticity of demand and supply.

(¢) In case of direct taxes, the burden of tax cannot be shifted.

(d) In case of direct taxes, the burden of tax can be shifted.

Answer options :

(1) (a) and (c) (2)  (a) (b) and (c)

(3) (a), (b) and (d) (4) None of the above
77. SRS TR FISRT J9Eiel & FwH wH do A Trea R, e e

F3S Ugd Tl FUTE IE RS ?

(1) Frge-dFe ¢ (H1.3.) TR & faerAT Iuesy e Q0.

2) o foarsien Srem=n w93 fedl TR F%7 e Suosy w67 0.

() TR T dedd wRwer F T, yew few anfn dgwaren wwk foe d
INET MG Soeied IUAey Heq QUL a7 FIaieni=l SATed™ Y&Iqul Ssrered J&afd Hl.

(4) =TS R

It is required to train thousands of teachers across the country effectively and in minimum
possible time. Which of the following methods would be the most effective ?

(1) Prepare and make available computer-based trainers (CBTs) to the teachers
(2) Prepare and make available video lectures by experts to the teachers

(3) Establish a transmission centre at any educational institute, remote centres with
tablets at institute at every district and Taluka places. Broadcast live lectures by
experts from transmission centre

(4) None of the above

el HATETS WM /SPACE FOR ROUGH WORK
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78. 2011 - 12 W& 9= FAfdt=a st ax= I T Hivrd e ?
(1) WeRI, T[S, AfHErg, 3Ty Your it fesn
(2) RIS, M, 1Y YW, Hleh ST i
(3) BRI, oI, 3719 YeIl, HHiesh o1 v
(4) HBRIE, TR, qfHS g, Y Tau AT I
Which of the following were the top five states in India’s exports in 2011 - 12 ?
(1) Maharashtra, Gujarat, Tamil Nadu, Andhra Pradesh and Karnataka
(2) Maharashtra, Gujarat, Andhra Pradesh, Karnataka and Kerala

)
(3) Maharashtra, Gujarat, Andhra Pradesh, Karnataka and Punjab
(4) Maharashtra, Gujarat, Tamil Nadu, Andhra Pradesh and Punjab

79. SIS oo ARY qATd e

TS qeFTaaTar e a9

(a) ST-FTET (@) HowwET
(b) o FoIHE Ia (if) R

(c) ™ (iti)  STRIIURA™
) e feawm e (iv) TS
g1y .

(@ () (o @
1 @ G @) @
(2) (@) @) @) @
G @O @ (@) @)
4) (@) (@) (@ @

Match the following and choose the correct code :

Terrorist group in the world Country
(a) Al-Qaida (i) Palestine
(b)  Armed Islamic Group (i) Cuba

(c) Hamas (i) Afganistan
(d) National Liberation Army (iv) Algeria
Options :

@ G (© (@
1 @ @) @) @0
(@ @) @ @) @
® O @ @ )
4 (@) @) @O @)
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80. 3w fawrmaEe [Eo gfad Bid :

(@)
(b)
(c)
(d)

T A A=A IE SARAMS 916
TN WIS S Gadie IRIas 95w
e AT fo&r

IHR, TREF 7 faweadio w2

qgia} S

(1)

(a) e (2) (a) 3T (o) (3) (b) ® (4) (b efor (d)

Economic development implies :

()
(b)
(€)
(d)

Increase in real output of goods and services
Progressive changes in socio-economic structure of a country
Expanding foreign trade

Reduction in unemployment poverty and inequality

Answer options :

(1)

(a) only (2) (a) and (c) (3) (b) only (4) (b) and (d)

81. SIS A HATYT TS Y ?

(1)

sfrefirr onftr Yt SRS WENS STHOTd Hal ST Ay IR See o™
TR

e SO WITH, S oniftr fow, fore, T & oF 99 A1 JremQ e =

AT TV,

What is infrastructure of an economy ?

(1)

(2)
(3)

4

The facilities and services which help in industrial and agricultural production are
collectively known as infrastructure in an economy.

Infrastructure consists of irrigation, energy and transport.

Infrastructure consists of transport and communication, banking, finance and
insurance, science and technology.

Infrastructure consists of transport and communication, banking and finance, science
and technology, health and education.

HeAT HHTETS S /SPACE FOR ROUGH WORK
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82. WISIOUH! HIVK FSHI AHV Srwiel SRyE, efasw e, foar o, fram snftr o
TS A I G foshrameR W 9 ?
(1) & I §gfg diem
(2) SUTHSA AR A
(3) Ul Sadt U TWASTTR AT
(4) e e FROER Fe
Which of the following focuses on the development of five areas for the rural people as
health, primary education, drinking water, housing and rural roads ?
(1) Jawahar Gram Samridhi Yojana
(2) Pradhan Mantri Gramodaya Yojana
(3) Swarnjayanti Gram Swarozgar Yojana
(4) Sanjay Gandhi Niradhar Yojana
83. OS] HISTHEA HIAT WS ASCII T = Non-ASCII JUTTid FUla 81% ¥t ?
(a) <2 fow ww (b) FeaE W
(c) TETE ®R (d) I WX
gt IW
1) (a) B (2)  (a) S (b) @) %N (4) (o) 3T (d)
In OSI model, which layer might perform ASCII to Non ASCII character conversion ?
(a) Data link layer (b) Network layer
(c) Presentation layer (d) Session layer
Answer Option :
(1) (a) only (2) (a) and (b) (3)  (c) only 4) () and (d)
84. YRd WHRA e Fhoiedl TLT FOdH FHRHAN g o (0 TR Hedre TR gur

_ 3E
(1) 50:50 ) 85:15 3) 70: 30 (4) 60 : 40

The National Horticulture Mission launched by Government of India on sharing ratio of
between the Centre and State Governments.

(1) 50:50 @) 85:15 3) 70:30 (4) 60 :40
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85. aarty fafifd = 4= B
1) StasTIERHAE gt I fafwa.
2) SasTIHeAy yTEiE 3w widfsha.
@) SaergEReAa wRra fHvem /faded
(4) SFeTTERHT YU YR HYSWL.

The bio-gas production is due to :

(1) Catalyst reaction of biodegradable material
(2) Heat reaction of biodegradable material

(3) Fermentation of biodegradable material

(4) Photosynthesis of biodegradable material

86. WRAMEd fasi=an a9 Haiq ! fe&dr v ST oTR ?

(1) Emas ) It a=
(3) nfoma (4) O &
Which sector has the lowest share in the consumption of electricity in India ?
(1) Industry sector (2) Agriculture sector
(3) Commercial sector (4) Domestic sector
87. 2/8 Sadaar Aefite faifare € E.T I5aE 9T F5 @R SO0 AR 8.
@ Yo (b) ¥ o
() WHEOHe JdeaieH| d) WHEIRIA
Rt W ¢
1 (@ 2 @ b (3) @, () (© 4) (@), (b). () ()
is/are produced by recombinant DNA technology.
(@) Insulin (b) Hepatitis B vaccine
(c) Monoclonal antibodies (d) Somatostatin

Answer options :

1) (@ 2) (), (b) (3) @ (®) (© @) (@), (b) () @)
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88. 2009 - 10 WEA Rl WESITaR SEmd FRIGEvE H0aW el
(a) UL 3fifoores St wee® - NTPC
(b) RA Bl sOFIHeW fofHes - BHEL
(c) T(@ IORITEHHRIA HIAREH - REC
d) o el aifw sfean fofiee - SAIL
Tt W
(1) () 3 (c) 2)  (a) S (b) (3) (c) = (d) (4) IR T
In the year 2009 - 10, disinvestment is being made in the following public enterprises :
a) National Thermal Power Corporation - NTPC
)

b

(

( Bharat Heavy Electricals Limited - BHEL
(c) Rural Electrification Corporation - REC
(d) Steel Authority of India Limited - SAIL
Answer options :

(1) (a) and (c) (2) (a) and (b) (3) (c)and (d) (4) None of the above

89. dofte W= @19 fagia wemren snuR favrieoms gueds =i ?

(a) <M i e (b) <TG IT@eH TG YT W HeT
(c) UTs TAAH (d) TIgeA

T I

(1) (a) B (2) (a) @ (b) B ©@%R (4 (d)FH

On what basis does the comparative cost advantage theory support specialization ?
(a) Natural abilities of the country  (b) Resource endowment of the country
(c) Available technology (d) Innovations

Answer options :

(1) (a) only (2) (a) and (b) 3 (©only (4) (d)only
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90. ol /TS 2 =S

(@)
(b)
(©)
(d)

o 2 = AT E+ & o Y L.
ot g =g wisdl — vEw wd
fafta 42 =Hege! Sl — Hege! T

fordia qe = vieaet S — Hieas! <.

g gty faer

(1)

() e (2)  (b) =T (c) (3) (c) i (d) (4) (d) ®d

Fiscal deficit means :

()
(b)
(c)
(d)

Fiscal deficit=Budgetary deficit+Loan and other Liabilities.
Fiscal deficit=Total Revenue — Total Expenditure.
Fiscal deficit=Revenue Income —Revenue Expenditure.

Fiscal deficit= Capital Income — Capital Liabilities.

Select the correct option :

(1)

(a) only ) (b) and () @) (c) and (d) (4) (d) only

91. WISIUTST o Hed AT FH T TSR AiH FTAAHE THET T H0GTEred ' Fod dE e Sat
g TR’ Fod ReRy weie sl fea gid ?

(@)
(b)
(©)
(d)
(1)
)

YIS FEEHE WigdD [aauEHd Foared <o,

QST ST qEYd GiaemIed TaevEg Sg wl.
fohYehIes SATIR &11d Wehld U2 T[Aavfshig RamTt o,

Tehifcqer fohma qrgest fafo wo.
(@), (b) @ (c) 2) (@), (©a(d)
(a), (b) & (d) 4) (@9

The Inter Ministerial Group on Inflation had suggested exempting vegetables and fruits
from the purview of APMC Act. In this respect which of the following is correct :

(@)

To encourage investment in supply chain

To promote investment in development of backend infrastructure by private sector
To permit foreign direct investment in retail sector

To develop integrated value chain

(a), (b) and (c) (2) (@) (c) and (d)

(), (b) and (d) (4) (a)and (d)

Hoedl RIAMIS SR /SPACE FOR ROUGH WORK

P.T.O.



VO2 36
92, WRAH el wrfshAre frdme v ?
1) o W wm (2) . AR TR
() & foswy T (4) IS 9
Who is regarded as the father of Indian Space Programme ?
(1) Dr. C.V. Raman (2) Dr. Meghnad Saha
(3) Dr. Vikram Sarabhai (4) Dr. Homi. J. Bhabha
93. [AUMFATY T StHIAHAIG! T WIEH WU s .
(1) fom wt Hifegm (2) wgfesrz Ay
3) HuEEn-TH HEm 4) 9 dice M
is commonly used as a medium for plant tissue culture.
(1) Serum free medium (2) Nutrient broth

(3) Murashige and Skoog medium  (4) Basal salt medium

94, SFGE GhUTA! faa=n sraedd wE gy ad ?
(a) OIHUTAT AR S HH AL
(b) ST & VR T TS .
(c) TH-TL S 3T, Y1 g T HHT S,
(d) - T Y- FHHT AL
Fhote! SR/ won faum/faam sxiET 3/ 1R ?
(1) (a) ST (b) 2 (@), @) (@) (3) o (4) (o) S (2)
What is observed in the third stage of Demographic Transition ?
(@) the rate of population growth is low
(b) the industrialisation and urbanisation is greater
(c) the birth-rate is high, but the death-rate is low
(d) the birth-rate as well as the death-rate is low

Which of the statement/s given above is/are correct ?

(1) (a) and (b) (2) (a), (b)and (d) (3) Alltheabove (4) (c)and (a)

FHoeAT HIUMETS ST /SPACE FOR ROUGH WORK
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95. WIHGYEH! SV TR FIE YRS fafd T Hecr TR ?
(a) U 30 43

(b) @I ST HIHT

(c) TEEA 9 T9EEE T

d) IR FIS it sfifrnt o

~—

Tt W
(1) (a) 7T (b) (2)  (b) S0f ()
(3) (o) @ (d) (4)  (b) &nfoT (d)

Which of the following groups of commodities are important in export pattern of India ?
(@) Food grains and Machinaries

(b) Tea and Coffee.

(c) Chemicals and Fertilizers.

(d) Ready-made garments and engineering goods.

Answer options :

(1) (a)and (b) () (®and (9

(3) () and (d) 4 () and (@)

96. <Al Y=EIeh AT IV &F T &' WA TS ?

(a) ShEfT &= (b) Foaror &

(c) —drmd Flaeined guren (d) it &

fedea yataident 9 oty fraer

1) (a) B 2)  (a) 3 (o) (3) (b) v (4) (d) w1

Which sector was regarded as a ‘core sector’ in the Tenth Five Year Plan ?
(@) Industrial sector (b) Education sector
(c) Infrastructure sector improvements (d) Agriculture sector

Select correct alternatives from those given above :

(1)  (a) only (2) (a) and () (3) (b)only (4)  (d)only

oAl HIAEIS S /SPACE FOR ROUGH WORK
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97.

38 A

T Sl FRFHATHE ! TR T WSIo! wivwt &Y Fifved et e ?

(a) WA dE B8 1800 MW

(b) I faurT= Gudt fraefavarde steah.

(c) Y a0 Hro@st it =g auld qa il SR e

(d) 1 W@ YA: Sell iHdrEret gaer S,

TR SW

(1) (a) 37T (b) @ @ @) @) (@) () d @) dwd
What are the areas identified by the Maharashtra State in their wind power
programme ?

(a) Target for XII" plan is 1800 MW

(b) Difficulty in getting forest clearance

(c) Tariff control period and wind policy ending in current year

(d) To carry cut survey for repowering of old site

Answer options :

(1) (a) and (b) " (2) @), (b)and () (3) (b),(c)and (d) (4) All the above
98. YA FEATAT AR F3A Al (R Fvaries qafd G937 dier BN

(1) IS GHIUTG HEHMIFAES S0 TS o SeHsI

(2) wHH S IARA

(3) TSN YHIUNA YShUnd Iadsi

(4) HISU YU HeA SHATFES, HeH TSRS o IS

The main disadvantage of generating electricity by using fossil fuel is :

(1) Large emission of carbon monoxide and Nitrogen

(2) Less electricity production

(3) Large emission of dust particles

(4) Large emission of carbon dioxide, sulphur dioxide
99. STUNET WIGIGUH! Il HIUEH Tl YR it Tt FH FI0AM Ia ?

(1) fefeam ) S (3) Syfem (4) oS
Which is the efficient moderator mainly used to reduce the speed of neutrons in nuclear

reactor ?
(1) Helium (2) Nitrogen (3) Deuterium (4) Oxygen
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100. 1987 - 1988 R WESIoh @A HIV ALV TS TS ?
(@) TR @ 3Tfvr wee w4,
(b) frnfsa @< suftr sifaifsa @
() e & foR ager &
(d) wEY! 9 Wieae! @«
fedvean watarst 9w watg fraer
(1) (a) S (b) (2)  (b) e (3) (b) e (o) 4) (d)

Which of the following classifications is being implemented for public expenditure since
1987 - 1988 ?

(a) Civil Expenditure and Defence Expenditure.
(by Plan Expenditure and Non plan Expenditure.
(c) Grants and Nongrants Expenditure.

(d) Revenue and Capital Expenditure.

Select correct alternatives given above :

(1) (a) and (b) (2)  (b) only (3) (b) and (c) (4)  (d) only

101. 9I. 1.3 SheEe i e FasT HvaEE! SIvET 950 9T ?

(a) ITHS FHSEH (b) T TR FEEH

(c) Hfs TR wroEEt (d) BPL 9sd

qrg gy e

(1) (a) ®e (2)  (a) T (b) (3) (b) I (c) (4)  (b) fT (d)
Which method was used for survey of poverty by the Prof. D.T. Lakdawala Committee ?
(@) Short run Period (by Uniform Recall Period

(c) Mixed Recall Period (d) Below Poverty Line method

Select correct option given below :

(1) (a) only (2) (a)and (b) (3) (b) and (c) (4) (b)and (d)
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102. g Gibd= 74
(a) 2004 - 05 A1 ot AHIT YITG T 446.68 TTEIE & RGN T TR,
(b) 2004 - 05 =1 =S 41.8% IO a1 g WETS! Bl
(c) IHIF TTU1 & HHIL HToATR A 3.
(d) o T SRl T S st SR,

Wf?ﬁﬁi:
(1) (a) B (2) (a) 3 (d)
(3)  (a), (b) M () 4) o wd

According to the Tendulkar Committee :

(a) All India poverty line in 2004 - 05 for rural area was at Rs. 446.68 per capita.
(b)  41.8 per cent rural people were below poverty line in 2004 - 05.

(c) Calorie intake criterion is outdated.

(d) Incidence of poverty is more in urban area than in rural area.

Answer options :

(1) (a) only (2) (a) and (d)

(3) (a), (b) and (c) (4) All of the above

103. TSATHT GHIS FedTvl Wit T Hdie 99 faenai=n frsgesd arem g, gy foeneafh sfa
g @iader g1 fawd=t wifedt Graee emR. Rrsges @H % 40,000 @ €. 90,000 3730 ST,
OB Ih! FHoear Todan T e e faeneafen d& @remer st Fdr 3e ?

(1) eRASMTE 2) TITnd
(3) SRIATATH. FH LI TEL.  (4) 7 ARIS.TE T IR

The Social Welfare department of a state would like to provide scholarship to all the
students studying across the state. Details, such as the bank and account number for
every student are available with the department. The scholarship amount varies from Rs.
40,000 to Rs. 90,000. Which of the following methods should be used to transfer the
scholarship to individual student’s bank account ?

(1) RTGS (2) NEFT
(3)  Either RTGS or NEFT (4) Neither RTGS nor NEFT

HoAT HIUEIST T /SPACE FOR ROUGH WORK
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104. @RS faum et :
(a) STl Guron Faten e[ ISR Wed gEt oA T
(b) F SA FEFRT GO T A
e S
(1) (o) SR ST (b) I 3R
2) (a) YT (b) G S A
(3)  (b) K TR 3T,
4) (a) 3 (b) e TSR YT (b) ¥ (a) = FN 3.
Consider the following statements :
(a) Post economic reforms period witnessed a jobless growth.
(b) There was very poor performance by agriculture sector.
Answer options :
(1) (a) is correct and (b) is incorrect
(2) both (a) and (b) are correct
(3) (b) only is correct
(4) Dboth (a) and (b) are correct (b) is the reason of (a)

105. = ST, TABR TR FOT SXHUTAT ITAM =1 fafecaamet e S,
(1) T (2) TYHT
(3) wAUS fashr @) fedrwiS
Interferon produced through recombinant DNA technology finds application in treatment
of
(1) Cancer (2) Diabetes
(3) Kidney disfunction (4) Haemophilia

106. WRATH® FSeA T dloial LSS HAT HHI AR FI0F Ad ?

(1) STEA (2) wfrg @) Fgu 4) fsr
Which state of India has the minimum consumption (KWh) of electricity per capita ?
(1) Assam (2) Manipur (3) Tripura (4) Bihar
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107. YETodeh! HIUK HERIE TEFN weoll (oRil) STew 2013 A/ Yfireew/ fodreed) s/ o ?
(a) WIS FAAYHT A R ST wrdt/SHTR 9 forai 9 yfaffae 2o,
(b) FAAE THOT T Afed JUITared UHR FEFR T[& T A1 7S,
() TF GTHR HehRl HEIeR YoHs e && v,
(d) T T&ER T gewn Fasus yiea’ iy 3.
R W
(1) (), (b), (d) 2) (), (b) (3)  (a) B @) (@), (b) & o)
Which of the following is the feature of Maharashtra Co-operative Societies (Amendment)
Ordinance, 2013 ?
(a) Due representation to be given to SC/ST and Women on the Managing Committee

of the society.

(b) Housing societies given powers to issue notices to defaulter members.
(c) The State Government can appoint administrator on the society.
(d) State Co-operative Election Authority to be constituted by the State Government.
Answer options :

(1) (@), (b), (d) (2 (@) () (3) (a) only (4) (@), (b) and (c)

108. SRITIEAT YRS Uehl YRUSS TSI S g5l THM STHUR WY 9gavig goart
ffiden gfedw 39 TN,
(1) 95 2) HEorEd  (3) FAEHT (4) SfEa sfimiteet

is the process by which an entire, multicellular organism is reproduced in a
genetically identical manner from a single cell taken from the parent organism.

(1) Propagation (2) Budding (3) Cloning (4) Genetic Engineering
109. 1.CS. WS :

faam 1 . Sono o fafavaeRt sifie sk Teeeer WS 969

faarm 2 ;oUW HUEE™ 99 9 Hed &, Y ssdiesd friemes R

FHET B

LRI

(1) foum 19 2 9 ) R faum v

() foum 299 1 sEd 4) AR faum e

I.C.5. means .

Statement 1 :  Stopping fire of forest with specific method, by a trained person.

Statement 2 :  Work of saving and helping by trained person with planned procedure
after disaster.

Options :
(1) Statement 1 is true 29 is false (2) Both statements are true
(3) Statement 2 is true 1 is false (4) Both statements are false

HoAT HHTES! W /SPACE FOR ROUGH WORK
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110. afiE W= Aifss oA 1 aua S g WO STHO AR TAENSE THU T S
ATH AR HLTATHT TG @1 H1F UL ?
(1) eRa-7E o (2) &Ra shid
(3) @@ s (4) oA THE E
If the figure of GNP (Gross National Product) is adjusted in relation to the deterioration of
the monetary value of natural assets during that year, that procedure is called :
(1) Green house effect (2) Green revolution
(3) Green power (4) None of the above

111. TERTE TSATHE 2012 31 991 THvI ISHE] SRhart Tt gl ?

(1) 9 qEEr=Ar 90.3% (2) 9™ grEErA 95%

(3) HMHM qrEHrAT 85% (4) THHA YEEr=Am 80.3%

What was the total rainfall in 2012 in percentage terms in the State of Maharashtra ?
(1) 90.3% of the normal (2) 95% of the normal

(3) 85% of the normal (4) 80.3% of the normal

112. 2R 988 RN (S TOREHIGIEN § HIM e 3R ?

(1) U E 2) @ faEe

(@) @™ ukR (4) @I BH

What are Rabies glycoproteins expressed in tomato an example of ?
(1) edible hormones (2) edible enzymes

(3) edible proteins (4) edible vaccines

113. wEEer= fgsvmsar Hifges SUEK Jrer 9HEy gl

(@) RN TAREGHER e (b) SHIA FH

(c) WESI® wald 9 (d) wEE ieEsT

it W

() @%F (2) (a) (D) @) (@FF (4 (o)
Monetary measures to control inflation include :

(@) Restrictions on bank credit (b) Increasing bank rate

(c) Reducing public expenditure (d) Incentives to savings
Answer options :

(1) (@only (2) (a)and (b) 3) (©only (4) (c)and(d)

HOEAT HIUTHIS AT /SPACE FOR ROUGH WORK

P.T.O.



vVO2 44 A

114. SR THO A HAAS &I 397 Saia @i {wai{an wH o

(a) & Sl (b) oiferen It (c) 7o) it (d) =
T W

1) (@), (®) () (d) | 2) (), @) (o) (d)

3)  (®) (9 (@) (d) 4) (), (@), (d) (©

Arrange the following sources of electricity according to their share in the total power
generation in the country :

(a) Hydel (b) Thermal {¢) Nuclear (d) Others
Answer options :

1) @), (b), ) (d) ) (b), @ (@) (d)

(3)  (b) (©) (a) (d) (4 (b), (a), (d), ()

115. SEAYURS AaH=N YRAT W] HIeamHe Te@ns G0 @A™ e T Ir.
(a) FH IR AT HIL
(b) T AR FT0I.
(c) InMH® HHET e Seraret HiHd o,
(d) IO SR GREE! @l Q.
Tt IW
(1)  (a) s0for (b) (2)  (b) 3 (o) (3) (b) =nfor(d) 4)  (a) enf ()

A notable feature of the Indian agriculture sector is the domination of small farmers with
small holdings. This poses :

(@) A challenge for increasing agricultural production.

(b) A challenge for adoption of farm mechanization.

() A challenge for generating productive incorﬁes from farm operations.
(d) A challenge for nutritional security.

Answer options :

(1) (a) and (b) (2) (b)and (c) (3) (b) and (d) (4) (a) and (c)
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116. YRAG HROTEAET SR S8 JITIMT WIGIGah! RV Hedh HRUNYT 3T1ed ?
(a) A&l BEwGEA
(b) TRHTEIS B
(c) WIF FA T q@
(d) R 9 s ae
FASUH! HIVR/ o faem/faum aRier 3R/ ed ?
1) (a) v (2) (a) 3T (b) (3) (@) (b)) (4) (a), ()
Which of the following are the causes of small size.of land holding in India ?
(a) Growing population
(b) The laws of inheritance
(c) Increase in joint family system
(d) Increasing Urbanization and Industrialisation

Which of the statements given above is/are correct ?

vVO2

anfor (d)

(1)  (a) only (2)  (a) and (b) 3 (@) (b)and () (4) (a) (b)and(d)

117. WRAT= &A1 Yeamies demaesd Siv o fHfvea % e ?
() TR =

(b) HERRE i

(c) TSI A1 ISTTE 916

) wafre freome wEifRwm

WW:

1) (a) B (2) (b) wd (3) (c) =T (d) (4) (d) s (a)

Which target was not fixed in India’s Tenth Five Year Plan ?
(a) reduction of poverty

(b) encouragement to co-operation.

{(c) increase in growth rate and employment

(d) universalisation of primary education.

Answer options :

(1) (a) only (2) (b)only () ©and(d) (4 (d)and (@)
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118. 1991 =0 aikifire diRom= Siowt e &t ?
(a) STRENTH AR YRR AT
(b) TS & WA HHT FHOL
(c) WESH ST Heo HHI H0.

(d) oHarTET faem.
T watar sraw aig faet
(1) (a) ® (2)  (b) el (d) (3) (a) S () (4) wio wd

What were the objectives of Industrial policy in 1991 ?
(a) Abolition of industrial licensing.

(b) Private sector role diluted.

(c) To dilute the role of public sector.

(d) Development of small-scale industries.

Select correct alternatives given above :
(1) (a) only (2) (b)and (d) (3) (a)and (c) (4) All the above

119. T I AT FHIV T5d TeIaE ISl qaiyd g ?

(a) @9 vgd (b) IO IFA

(c) SHEA Tgd (d) worg fAeft v

feoe Tataest dwa b faer

(1) (a) 3nf (0) (2) (a) AT (b) (3) (o) W (4) (d) ®x
Which of the National Income measurement methods is related with value-added
method ?

(a) Expenditure method (b) Income method

(c) Production method (d) Flow of Funds method

Select correct alternatives given above :

1) @and() (2 @and(®) () (O only (4)  (d) only

120. FIvrT fHTdER/ SUTER TR e ST qHANT 9T 390sd Bl 2

(1) o= yRd 2) ifen mRa

(3) Y EH (4) WreRTHe TEE

At which price are the commodities made available to the consumers at fair price shop :
(1) Levy price (2) Ceiling price

(3) Issue price (4) Procurement price
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121, o3 Rl enftr diet STEmEd F1 W AR ?
(a) TSof R STURTET YO FHE Yo’ IYURTIN HHT ST S
(b) TSl RIAT ST YA ey G} STURIUET S SHello .
(c) Toaf Tl Suveran yHor et ST Qe SYURTT Ul el THH SHeler STl
(d) N R SUURET WA Set Yedto favem <o ot oTeal enfon Wiek SUmErEn W S
IW, IFRIOT Yo X ST,
ERICIRCE
(1) () 2 Gefd (@) @M@ @) (@) b))
What is the difference between a geostationary and a polar satellite ?
(a) Geostationary satellite orbits at lower altitude than a polar satellite
(b) Geostationary satellite orbits at higher altitude than polar satellite

(c) Geostationary satellite orbits at equal altitude as polar satellite

(d) Geostationary satellite orbits above the equator and polar satellites orbit above north
and south poles

Answer options :

® @ (2) (b)and (d) (3) (a) and (o) (4) (a), (b)and ()
122, TAEROTAG SE@AT T e Haeviear a8 iR Jgu guieTe e wE

NETIGH

(1) Jeig (2) wTeEe (3) st (4) e

Due to their susceptibility as well as resistance, serve as ideal environmental

pollution indicators.

(1) Bacteria (2) Lichens (3) Fungi " (4) Algae

123. dfeR W FHURA 377 sfean fefies o sfie #m@ aR ?
(1) < g e #o
(2) ot FfHet weeTen SIrfa SId aTaY I
(3) i et fafifdt s Temq.
(4) ER K oS o,
What is the objective of Power Grid Corporation of India Limited ?
(1) To generate more electricity
(2) Optimum utilization of electricity generating resources

(3) To establish more power stations
(4) To deliver more electricity per capita
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124.

48 A

ST AR FHeA=a Aiheld SahIev § WIStotsh! HImdt T efsso TR ?
(1) AR FEEER fagia.

(2) ot uiemarE fagi.

(3) sy aRemaren fagia.

(4) g gfiearen fagi. |

Under the framework of the WTO, globalisation is nothing but a modern version of :
(1) General Theory of Trade.

(2) Theory of Comparative Cost Advantage

(3) Theory of Absolute Cost Advantage
(4) Theory of Equal Cost Advantage

125.

TIAGUHT IV AN SR SR JEIA a8h a4 TgU[H F1d ! ?

(a) TRty T fae.

(b) smfguETS wER fiedm.

(c) TFma e wER.

(d) @ fHwda awE STesHd!.

T HIvK faur/ faum aeR st ?

(1) (o) P @ @aE @) @O @ ()0
In which of the following ways does international trade act as an engine of growth ?
(a) Motivate the specialisation

(b)  Benefits of division of labour

(c) Benefits of price unequalisation

(d) Availability of commodity at reasonable rates.

Which of the statements given above is/are correct ?
(1)  (a) only (2) (a) and (b) (3) (a) (b)and (c) (4) (), (b)and (d)

126.

TR eI ATl TRIRFER GTSte el fesh! Fol S

(a) wREeaT=n THETe goU. (b) TS T WA FOIERE TEL
(c) 3rarea fafaa = (d) TUMdRS o
gt W :

(1) @ O3 @) (b) () () (o) = (d) (4) () 3 (c)
The approach of the Twelfth Five Year Plan has been criticised on the following
grounds :

(a) Issue of poverty neglected. (b) Growth target unachievable

(c) Unrealistic financial pattern (d) Ignorance towards equality.

Answer options :

(1) (a), () and () (2) (b)and (c) () (9)and (d) 4) (d)and (c)
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127. PREACE Wagd TS HI0E YIS §R S 99 a2

1) Yesh 9= (2) THRE (3) R A% (4) TeRT R
Which part of electromagnetic spectrum heats the solar cooker and solar water heater ?
(1) Radiowave (2) Infrared (3) Microwave (4) Ultra violet

128. IEUEH HUAH! ASHEIS dE § H&AA: A S TR :
(a) T T-TAGAIA
(b) ! farasiie JuAT SveES G,
(c) = dFaTTTF do
@) = foda doq
FUGIH! HIVHT/ I ek SRIET A ?
(1) (a) 3T (b) (2) (b) ¥ () 3) @ BT 4) (@), )

The recent growth of multi-national corporations is maiﬁly due to :
(a) product-innovations

(b) pro-developing country policies

(c) technological superiorities

(d) financial superiorities

Which factor/s given above is/are correct ?

(1) (a) and (b) (2) (b) and (9) (3) (@) (b)and () (4) (a) (c)and(d)

129. YR STURSH FheUThidl UEHT hid ScAIGd FHUAM aAd ?

(1) He3 (2) ®EEE (3) wHeTFRA 4) %R
Where in India, nuclear fuel is fabricated for nuclear power plant :
(1) Mumbai (2) Hyderabad (3) Kalpakkam (4) Indore
130. WONUSieN SHHAEAHE AT UEdH 18 HRUAR I T AR TS YT,
(1) ey (2) WA AR
(3) T (4) FEA SHSATFES
gas is used to provide suitable environmental conditions for growing animal
cells.
(1) Oxygen (2) Carbon monoxide
(3) Nitrogen (4) Carbon dioxide
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131. 2011 Wefte Geiear STl AL TRarn et fHdt g ?

(1) 3.3% (2) 0.6% (3) 1.0% (4) 2.0%

India’s share in the world export of services in the year 2011 was :

(1) 3.3% 2y 0.6% (3) 1.0% (4) 2.0%

132, SgUSN HUAi= foalyTdie g SIv ?
(a) I SCATEAT SR Sy,
(b) STFY IUHM STFdIe.
(c) HHa-TRE idte 3 JTeul, !
(d) O TR T

q’ﬂf*ﬁ%’ﬂi:
1) @), b) © 2 (@), ®)
3 @) (@, (@ . 4) o wd

What are the arguments against Multinational Corporations ?
(a) Displacement of indigenous production

(b) Inappropriate consumption pattern

(c) Widening gap between rich and poor

(d) Poor technology transfer

Answer options :

1) @ b) (© 2 (@) (k) (d

(3) (@), (), (d) (4) All the above

133. wiRar=n faceht =R fegen Hevia Eeieote v faum aade o ?
(1) OECD 29I yRar ffdadie Ted ares R,
(2) RATET OPEC YRuRf SR Higdl JHIUE YUReT 3R,
(3) wraran fAfda 37oed T Y99 TR,
(4) SAARC YNIIGH 3T Higdl JHIUIG A& 3.

Which of the following statements is the most suitable to describe direction of India’s
foreign trade ?

(1) Importance of OECD countries in exports of India has increased.

(2) Trade with OPEC region has improved substantially

(3) England occupies the first place in India’s export.

(4) Imports from SAARC region have increased.
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134, TEAY TG HEMd AR s wEmE gfaw R Cara fEfn’ @ sEEe @ e
oI TR

(a) (b) TIEER Sirgul
() ¥R @ fam

TSt FIE/ B TeH TG R ?

(1) (a), (b) 3 (d) 2) (o) 3mfu (d)
3) (a). (b) 3 (o) (4) (a) 3nfT (b)

‘Bharat Nirman,” the programme for providing basic amenities and infrastructure in rural
area, has following components :

(@) Roads (b) Telecommunication Connectivity
(c) Health (d) Housing

Which of the component/s given above is/are correct ?

(1) (a), (b) and (d) () (9 and (d)

(3) (a) (b)and (c) (4) () and (b)

135, Tois anfifss ¥R (eTfi® GuRen) WIS arelier SHres Hd e

(a) SIFIfaeRTERTO (b) TR

(c) Tt (d) iRz
feoean Tttt 9 waig fraet :

1) (a) F (2)  (b) nfor (d)
(3) (@) (b) 3T (c) (4) o wd
New Economic Policy (Economic Reforms) included the following things :
(a) Globalisation (b) Liberalisation

(c) Privatisation (d) Industrialisation
Select the correct option :

(1) (a) only (2) (b)and (d)
(3) (a), (b) and (c) (4) all above

136. RAHREA fuTeie QUHEL TS TR qoel SEIis! 20 THRART HH 40 e, Wy

T Uo @ pulfva TR

(1) 30 <FH (2) 35TF* (3) 40TFH (4) 45 TFH

India a developing country accounts for less than 20 percent of world’s child population
but it has malnourished children.

(1) 30 percent (2) 35 percent (3) 40 percent (4) 45 percent
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137. WRAWER 9 TEhtd WA oV a1 Haifis Jarg v S aar ?
(1) g (2) W™ (3) A (4) HfERT (FUaT,)

From which country does India receive the largest flow of foreign direct equity
investments ?

(1) Singapore (2) Mauritius (3) Japan (4) USA.

138. WAT=A] A& [aoas soewel Hewla wrelodst S faym e oTed ?
(a) YRAIG dTeqe fawae W Friem fae o1,
(b) T SRR oTTS glaurn enflw famramer faufta 9fomy g,
() TRIH AT 3 NSYUS TR
(d) YRAIS ATeqe Saawl BR IS TR,

TGt ST
(1) (a) =T (c) SR 7R (2) e (a) TS 3.
(3) () 3T (b) TSR TR (4) TTUR! THE S AR

Which of the following statements are true in relation to the transport system in India ?
(a) Transport planning is poor in India.

(b) Economic growth is adversely affected due to inadequate transport facilities.

(c) There are a number of bottlenecks in transport system.

(d) Transport system is very good in India.

Answer options :

(1) (a) and (c) are true (2) only (a) is true

(3) (a) and (b) are true (4) None of the above is true

139. WiwaeR Frafdide feyem e YRame! gaifis Ae@r= SRS vk 3% ?

(1) oAt 2) 38 (3) == (4) A
Which is the most important export market by its share in India’s software export ?
(1) United States  (2) United Kingdom (3) China (4) Japan

140. TPv4 AT, TSIGUh! RIvEr 3TE. 9. 37gH o7dy R ?

(1) 192.168.1.1 (2) 192.168.732.16

(3) 116.195.5.90 (4) 192.168.32.16
Which of the following IP address is invalid, according to [Pv4 ?
(1) 192.168.1.1 (2) 192.168.732.16

(3) 116.195.5.90 (4) 192.168.32.16
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141. TeRrgr=N SNl widia sifies fewa WSioie! SHvEn seen egifoa! ?

(@) W & (b) TETeRT STt WS SE

(c) HIq I& (d) o SE

Iy g3y fAaer

1) (a) ST (b) (2) (b) B (3) () =mfur (d) 4) (d) %X

Which of the following sectors has contributed the most in the Industrial progress of
Maharashtra ?

(a) Public Sector (b) Big industry in private sector

(c) Metallic sector (d) Small-Scale Industry

Select the correct alternative :

(1)  (a) and (b) (2)  (b) only (3) () and (d) (4)  (d) only

142, WRATSA1 Wi 319 FEUI 959 & BIRA i :
(a) ¥gIw Td i<l SECHAl AEH TR,
(b) ITIURHITT ST BT FIA 3R,
() IRferw fauea Fee TR,
(d) STHHFIIN IEEAT < WAOHS DT IR,
ot Hord faum seR o7ed 2
O @sfiE (@ GEd @ @) @) (s
In the Indian context, it can be said that the green revolution has :
(@) raised the productivity of almost all crops
(b) benefited small farmers to a great extent
(c) widened regional disparities
(d) taken the country towards self-sufficiency in foodgrains production

Which of the statement given above are correct ?
(1) (a) and (c) (2) (b) and (d) (3) (a) and (b) (4) (c)and (d)

143. F 9 FO &A1 UM Tho IOANG FH SR feed Qoo Yt weme gum o ?
(1) AR AR Srefeawe
(2) it SUEHAH T
(3) O AR STeferereen
4) FH T T @A FH TAGRES
The declining share of the agriculture and allied sector in the country’s GDP is consistent
with :
(1) Slow growing economy
(2) Negative growth in agricultural productivity
(3) Fast growing economy
(4) Low credit supply to agriculture and allied sectors
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144. g1 WA G HE Hed T dielel (a0 39 W4, Yeg] 1 SURTST 1 TR ?

(1) TSN gRoT=ET 3919 (2) wAfTTEE gRuTET U™

(3) AR ¥Rl U™ (4) = fawawm gRomET U

When inflation is controlled by reducing public expenditure, it is known as a :
(1) Fiscal policy measure (2) Monetary policy measure

(3) Trade policy measure (4) Taxation policy measure

145. RIS TS w0 | H1 ?

(1) savneTs RS SereAreAr WiEegHier Teard Yol e sted enfur dwmel Sk
e Hees (urefteon) fraarem smme.

(2) St HEAHIER TsAre YUl fEen 3w, qenfy s faddia s,

(3) TFHRA M@ FEaNAER fafay snfife il Fvgmee dae amer 9 fEE 29,

(4) Herg RS wrEeor od, qenfy SRl YR oY Saeemel SR FuaEe! WErE
3.

What is planning by direction ?

(1) Under planning by direction, the State has complete control over the means of
production and the Central Planning Authority formulates a plan for the country.

" (2) The State has complete control over the means of production. However, planning is

decentralized.

(3) The State directs the entrepreneurial class to perform various economic activities
according to a plan formulated by the government.

(4) Thereis a Central Planning Authority. However, market forces are allowed to operate
in the economy.

146. 2010 - 11 983 YRAM WIS AW hoed] awgal Il FHH Sl

(a) WA @S (b) o T U
@)ﬁﬁﬁ (@) TR T
R :

M 0@ 0d @ @0.0d 6 @b de @ O e
Arrange the following import items of India 2010 - 11 in a descending order ?

(a) Pearls and Precious Stones

(b) P.O.L. (Petroleum Oil and Lubricants)

(c) Gold and Silver

(d) Electronic Goods

Answer options :

W ®,@ @@ @ @ 00 @ @ b)d @ @ ®)0 @ d
147. fory wRHM® AFE IO W fed. T (1) UM ey wereiagd el TR gaRn

_ wod fHedn.

1 5 2y 7 B3 9 4 11

Fats supply heat to the human body. One (1) gm of fat gives about calories to
the human body :

(1 5 2 7 3 9 4) 11
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148. 13 =1 foita SETIER 9 2012 - 13 WIET {SATHT Safifeha ST 2 fael w1t Bt or o
2012 - 13 HEd WRRTS TR USRI 2 fohdt et Bt ?

(1) Tl oaifhd THNT e GSDP =1 2.5% M HERTE TSATH TSRS G2 GSDP =1
1.7% @l

(2) THTHE! RfifeRd TSN G2 GSDP <A1 2.5% HeRIST= TSI G2 GSDP <41 2.6% @I,

() THTE! TEifRd TSTRINT & GSDP =T 2.5% 0T AERILRT TSI @ GSDP =1 3%
B,

(4) T owifea TSR G GSDP =T 2.5% 30T FERTT TSNty @ 2.5% Bl

What was the targeted fiscal deficit for the states according to the 13th Finance Commission
for the year 2012 - 13 and what was the fiscal deficit of the Government of
Maharashtra for the year 2012 - 13 ?

1 Targeted Fiscal Deficit was 2.5% of GSDP and Fiscal Deficit of Maharashtra was
g
1.7% of GSDP.

(2) TFD 2.5% of GSDP and FD of Maharashtra was 2.6% of GSDP.
(3) TFD 2.5% of GSDP and FD of Maharashtra was 3% of GSDP.
(4) TFD 2.5% of GSDP and FD of Maharashtra was 2.5% of GSDP.

149. W@WWW/WWWWWM?

(1) S 9ga (2) ST Ugd

(¢) @duga @) adotH R

Which method is not used for measurement/counting of National Income in India ?
(1) Income Method (2) Production Method

(3) Expenditure Method (4) None of the above

150. HEATE AN SRHAT Hdqiid nufiys wWUeR Risaeen StegR fdt THI0Nd Sih o Yie qRiauamd
Fama ?
(1) 350 %aU 9 12 39 A (2) 450 Fed 912 99 yfem
(3) 700 %S 720 Un wfed (4) 450 el 920 UW WA
Under Mid - day Meals Programme, at primary stage cooked meals provide energy and
protein content of :
(1) 350 cal and 12 gram proteins (2) 450 cal and 12 gms proteins
(3) 700 cal and 20 gms proteins (4) 450 cal and 20 gms proteins

- -00o0-
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Tl — (48 1 967 T8....)

@) TEYRasved fafeq Foea faftre smie = #W (36 o) HE. FIRasaaiaied STuiasay a1
T FHIERR ol HTH Hed™ o A FIOG= WM FO R, T8 THS RS 9 AR SHGTRIEK
N SR O qhamed S IRYwR wiasy wvaeEad ifuftam-g2'! Ao wEEHuR SRR
FOI I3 T T SHHKiT HAG Th JUMSAT HIRIATHr=A1 N/ fHar T8 T TN A= e ey
RIER A

©) TR TEUHAFTE! AErT faftd O 9% UMW IHEIR ¥ TETYREe] W aat TeheTE]
U5 TN TEE TR, WIS UelT S &(TaTeY SToarget SHEaiA ITear STdieh el WiT-1
AHAYRTHS 7T TIUiar W Ul avaes e, ,

¥ HHE

9. . 201.

T 99
201. HAE 9@ TR FOGRIS! RO qod: TIH FO ?
1) @ IR T @ sveREe farmamR
@) TS AR U 4)  TIATSE MES
Y A IR (3) TS UHERE UE' o . e 91 YA WO (3)" de. aaa
WA 7 . 201 FHIde SH-swAF ()" € ade ToIv0 Brifchd e rafad Savas
3R,
oo XO |
A TSN TG THYTERde TE JYAET gEEl SAGRHIS 8 RIel e Qe
ARl & TASHHREEIE Wi age o SEifed HET r@armEl.  grehiar
o Fiodl IIEY Siodd arRmE, U ar yge U Qs -4,
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